
Farmhouse Night Stand
By Shades of Blue Interiors

A 2 drawer night stand with simple farmhouse style and long legs. The arched apron front and round drop down pulls have

a subtle vintage charm that is the perfect charming addition to any bedroom. Dimensions: 27 3/4″ tall x 15″ deep x 26 1/2″

wide

Difficulty

Moderate

Page 1 of 15



Page 2 of 15



Tools
Kreg Tools

Wood Project Clamp - 6"

Kreg® Pocket-Hole Jig 720

Other Tools

Jigsaw

Miter Saw

Table Saw

Tape Measure

Drill (cordless)

Nail Gun

Router

Router Table

Sander

Materials
Wood Products

Board , 2x2 , 120"1

Board , 1x2 , 96"1

Board , 1x3 , 96"1

Board , 1x8 , 72"1

Board , Edge Glued Finger-Joint Pine Board , 16 In X 3 Ft1

Plywood , 3/4" Thick , Half Sheet1

Plywood , 1/2" Thick , Half Sheet1

Hardware & Supplies

1 1/4" Pocket Hole Screws24

1" Pocket Hole Screws16

1 1/4" Nails, 18 Gauge10

Drawer Pulls4

2" Wood Screws4

Wood Glue1

Wood Filler1

220 Grit Sandpaper1

Bottom Mount Drawer Slides2

Satin-finish Latex Paint1

1" Nails, 18 Gauge15

Page 3 of 15

https://www.kregtool.com/shop/clamping/clamps/wood-project-clamp---6/KHC6.html
https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-jigs/kreg-pocket-hole-jig-720/KPHJ720.html


Cut List & Parts
Legs , 1 1/2" X 1 1/2" X 27"4

Side Panels , 3/4" X 19 1/2" X 11 1/2"2

Back Panel , 3/4" X 19 1/2" X 23"1

Drawer Dividers , 3/4" X 1 1/2" X 23"3

Arched Apron , 3/4" X 2 1/2" X 23" With A 3/4" Rise Cut Out In The Middle1

Side Trim Pieces , 3/4" X 2 1/2" X 11 1/2"4

Top , 3/4" X 15" X 26 1/2"1

Drawer Face , 3/4" X 7 1/4" X 22 7/8"2

Drawer Sides , 1/2" X 12 1/2" X 6 1/2"4

Drawer Front And Back Sides , 1/2" X 21" X 6"4

Drawer Bottom , 1/2" X 21" X 12 1/2"2

Page 4 of 15



Directions
Build Sides
Drill 3- 3/4" pocket holes in both long sides of one of the side panels. Place 3/4" thick spacer piece of wood underneath the

side panel and line up two of the legs on either side. Make sure one end of the legs are flush with the panel. Attach the legs

with the side panel using 1 1/4" pocket hole screws and wood glue. Repeat the same for the other side panel and remaining

2 legs.

1

Page 5 of 15



Attach Drawer Dividers
Drill a single 3/4" pocket hole on either end of all three drawer dividers. Attach the dividers between the two front legs using

1 1/4" pocket hole screws and wood glue. Make sure the top divider is flush with the top of the legs, the middle is 7 1/2" from

the bottom of the top divider, and the bottom divider has the same 7 1/2" spacing. A good way to ensure the spacing is

adequate is to put the drawer face between the dividers as you attach them. The pocket holes should be facing down.

2

Page 6 of 15



Attach Back Panel
Drill 4- 3/4" pocket holes on both 19 1/2" sides of the back panel. Attach the back legs flush to the back panel using 1 1/4"

pocket hole screws and wood glue.

3

Page 7 of 15



Attach Arch Apron
Measure and mark center point of 1x3 apron. Measure 3/4" up from the center mark and draw an arch from either end of the

apron with the high point at the marked center. Clamp the board down on one end to a secure surface and cut along the

arched line with a jigsaw until the half-way point is reached. Remove the clamp, rotate the board around, reclamp, and cut

the other side along the line. Drill 2- 3/4" pocket holes on both ends of the 1x3 apron and attach it right below the bottom

drawer divider using 1 1/4" pocket hole screws and wood glue.

4

Page 8 of 15



Attach Side Trim Pieces
Position the side trim 1x3s pieces flush with the top and bottom of the side panels and attach them using wood glue and 1 1/

4" nails with a nail gun.

5

Page 9 of 15



Attach Top
Using a 5/8" chamfer bit, route both sides of the top piece on 3 edges. Make sure the router fence is set 1/4" back from 0.

Position the top on the dresser so that there is a 1/4" lip on both sides and 1/2" lip on the front. Pre-drill holes on all 4 corners

into the legs. Using wood glue and 2" wood screws attach the top to all 4 legs.

6

Page 10 of 15



Build Drawer Carcass
Drill 2- 1/2" pocket holes on both ends of the 6" wide drawer fronts and backs. Attach them flush with the ends of both

drawer sides so the pocket holes are facing out, using 1" pocket hole screws and wood glue.

7

Page 11 of 15



Attach Drawer Bottom
Using 1" nails and wood glue, attach drawer bottom to both drawer carcasses.8

Page 12 of 15



Attach Drawer Face
Measure, mark and position the drawer face so that there is approximately 1/2" space on all 4 sides of the drawer face from

the edge of the drawer sides. The sides should have a little less than 1/2" space. Glue and attach with 1 1/4" nails driven into

where the edges of the drawer sides meet the drawer face.

*Optional: Attach drawer face after drawer slides are installed onto drawer carcass and side panels so that it is positioned

properly and then the face can be positioned and nailed into place.*

9

Page 13 of 15



Install Drawer Slides
Following the instructions, install bottom drawer slides by attaching them to the sides of the drawer carcass first then

measuring and attaching the inside track to the side panel with the screws provided and a level. Make sure there is 1/16"

space on all 4 sides of the drawer space from the legs and drawer dividers.

10

Page 14 of 15



Fill Holes, Paint, Attach Hardware
Fill nail holes and seams with wood filler, let dry, and sand entire thing smooth with 220 grit sandpaper. Paint with 2 coats of

white latex paint in a satin finish or apply your choice of stain and topcoat.

Measure 5 1/2" from either side of the drawer face and exactly half-way from the top and bottom (about 3 1/2"). Drill holes for

the drawer pulls or knobs and attach drawer hardware.

11

Page 15 of 15


	Farmhouse Night Stand
	Tools
	Kreg Tools
	Other Tools
	Materials
	Wood Products
	Hardware & Supplies
	Cut List & Parts
	Directions
	Build Sides
	Attach Drawer Dividers
	Attach Back Panel
	Attach Arch Apron
	Attach Side Trim Pieces
	Attach Top
	Build Drawer Carcass
	Attach Drawer Bottom
	Attach Drawer Face
	Install Drawer Slides
	Fill Holes, Paint, Attach Hardware



